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@ This is a shop where you can buy hats. But you won'’t find caps here. It’s a store for
older people. Marc’s Grandma buys her hats here.

@ At Cheapland they find what they need. The prices in this shop are really cheap. They
buy one game for £12. Each of the boys can spend £5. So they have £3 left. Rick
suggests buying some sweets for Allan at the sweetshop over the road.

@ This is another shop that sells sweets, but it’s not over the road from Cheapland. That’s
not the shop they go to. The boys have to hurry — there isn’'t much time left until the
party starts.

@ The waffle stand sells the best waffles in town. They taste delicious! All three boys buy
a waffle: Rick eats his waffle with cherries, Tony and Marc eat theirs with cream. Marc
checks his watch: “Boys it’s time to get a new shirt! We have to hurry up!” There are
many clothes shops in town. The boys decide to go to Shirts & More.

@ This is Brighton Street West. There’s a birthday party, too, but it’s a girl’s party, not
Allan’s party. | bet this party is boring!

My reading trail:

1,

Solutions:

Riddle to @: Marc’s favourite sweet is

Riddle to (14): Allanis __years old.
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Losung The birthday party
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Reading trail: 1, 11, # , 16 , 10, 22,

* Solutions:

Riddle to @ Marc’s favourite sweet is candyfloss.

Riddle to @ Allan is _11 years old.
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